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Man is a social animal. He cannot live and no person can be happy without sincere friends.
But selfish persons cannot get friends. You cannot receive love unless you give it. Love is to

be obtained only by giving love in return.

g, Foreh ver W9a 1 IR Ao (T 150 VIeR1 H) 5x1=5
%) H9 garh AR e il & foT o W A e gm0
# 59 % for o wfvae fafa |
@) ‘@A 3R A fawg w @ fsil & 9 e w5 faRe |

S (Contd.)



RG-Hin(FL)
FOR EXTERNAL CANDIDATES ONLY

9, Faredl I Al & I AT (oWt 20 i A ) -
i) e YU Rel wE T R 7
i) forg foa wafeht 1 e gon @ T At ¢

i) B 3 el g T @ A gan - 7l Fek AR W@ R

iv) wﬁﬁﬁmﬂmimwmﬁ?

v) ‘Mo 1 3 A R 7

10. R A uvAi & Im e (swfrs 6o VIsGi W )
) 3 & e, Fareh F Fdn da ¥ fre w007
&) T8 dfFa frq e @ 3ga B
@) Fra ¥ 8 det & fog s w0 3, s 7
ii) T WI-FHAA YU T,
N1 an &, g1 and, 1 W

2t &1 i, oft faftre gfee & @ =1 o
@) W T Haa w1 W e |
(@) T H NG W R |

iii) FR Y & IR SH-TTH, Hei- 4w, TH-AR B R HR |

1x4=4

3x2=6



